SAMPLE TEST

Multiple Choice

1) Calculate: (Berancaure:)
2022 — 1999 + 2023 — 888 = ?

A) 2021
B) 1123
C) 1158
D) 1948

2) Solve (Pemuts) :
20,22-5,6+64-95-1,52=?

A) 10
B)9,5
C) 11,5
D) 12

3) If perimeter is 94cm. Find x?
(Ecan mepumetp 94cm. Hantm x?)

3x+7

A)7
B) 13
C) 10
D) 14

4) Find % of 60.

(Haiiaure % 3 60.)

A) 24
B) 33
C) 45
D) 36
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5) 256 + 62 - 279 =?

A) 27
B) 33
C) 45
D) 39

6) Find last number.
(Hamtn nocaeaunit Homep?)
17,24, 31, 38, ?

A) 39 B) 43
C) 45 D) 49

1 1

2’5
5=
11 S =7

2°5
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7)

2

A)27
B) 23

Q) 1/5
D) 29

8) If v=10, u=6, a=4, what is the value of

2 2
Vv u >
2a
(Echrm v=10, u=6, a=4, HanguTe
vZ —u?
3HayeHua anAa ?)

A)1/2
B) 12
C)8
D)6
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9) Find 8t . (Haitaure 8-11)

00000

00000

0000

CO000®

0000
5

1 2 3 4

A) 81
C) 64

B) 88
D) 49

10) Find the digit x that makes the 5-digit
integer 6845x. Evenly divisible by 8.

(Hamaure nndpy X, Koropast cocraBaseT 5-
3Ha4yHOe 11ea0e 4ncao 6845x. 6845x aeautcs
Oe3 ocraTka Ha 8.)

A)2
B)6
C)4
D)8

11) Find (Haiiaure) 4—%:2, =l
1+—
X

A)2
Q)5

B) 3
D) 1/2
12) Find the volume of this figure.

(Haitaure oO6beM 9101 PUIYPHI?)

4cm

7cm
Scm

A) 150
C) 140

B) 230
D) 84

MATH QUESTIONS

GRADE 5 - 6 (CATEGORY 4)

13) Simplify the expression (Ympocrture
BBIPa>keHue :)

4-(8-6,25):05

oy 1
(12:6):
A) 55/2
B) 40
C) 75
D) 35

14) Calculate: (Brraucamnre:)
& & §-s
~(h O
e AR e
<Uf + 6+ Uf =21

AR AR

~§ AW

s + €Y = ?
&R+ 5+

A)17
B) 23
C) 15
D) 19

1 1
7+7
6 5_,
el

5 6

15) Calculate: (Beramcanre:)

A)-11
B) 13
Q) 15
D) 11
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16) Solve (Peruts) :

14+4=5
2 +5=12
3+ 6 =21
8+ 11 =7

A) 9%
B) 88
C) 33
D) 41

17) How many part of figure shaded?

(Cx04pKO YacTh pyCyHKa 3allTpUXOBaHa?)

MATH QUESTIONS

GRADE 5 -6 (CATEGORY 4)

18) 5 + 55 — 555 + 5555 =7

A) 550

B) 5600
C) 5000
D) 5060

19) David knows that 111 x 111 = 12321.
What will be result of 111 x 3337

(deBupm 3maer, uto 111 x 111 = 12321.
Cxkonbko Oynmer 111 x 333?)

A) 63963
B) 36963
C) 36693
D) 33333

20) 2022 -202-22+112="?

A) 1909
B) 2022
C) 2008
D) 1910

21) Simplify the expression (Ympocrure
BBIpa>keHue :)

(7—6,35):6,2:9,9:?
1,2:36): —
(’ ) 24

Answer:
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22) If area of figure is 64cm’. Find x?

(Ecau maomtags purypsr 64cm’. Haitaure
x?)

4cm

2xcm

Answer:

23) Find surface perimeter of this figure in

cm.

(Haraure nepumeTrp oBepXHOCTU DTOM

¢urypsl B cM?)

Sem

Answer:

24)2+4+6+...+88="7

Answer:

25) If %:a+1 and E:a—l, what is the

d
4
value of i
(a-1)
a .
(Ecan b =a+1lnu = =a—1, naitaure
b4
3HAYEHUst AAsl ———?)
(a-1)

Answer:

MATH QUESTIONS



